

Lo 4. Mathematik Analysis in variable  $\mathbb{R}$ , THV137, 190831

1) a)  $\int_0^2 \frac{x}{(x^2+1)^2} dx = \left[ -\frac{1}{2} \frac{1}{x^2+1} \right]_0^2 = -\frac{1}{2} \left( \frac{1}{5} - 1 \right) = \frac{2}{5}$  b)  $\int \ln|x| dx = \frac{1}{2} \ln|x| = [PF] =$   
 $= \frac{1}{2} (\ln|x| - \int x \cdot \frac{1}{x} dx) = \frac{1}{2} (\ln|x| - x) + C$  c)  $\int \sin x dx = \int \frac{1}{\cos x} \sin x dx =$   
 $= -\frac{1}{4} |\cos x| + C$

2)  $y' - x^2 y = 0$  IF:  $e^{-x^3/3}$   $\frac{d}{dx} (e^{-x^3/3} y) = e^{-x^3/3} \cdot 0 = 0 \Rightarrow$   
 $y = C e^{x^3/3}$  with  $y(1) = C e^{1/3} \Rightarrow C = e^{-1/3} \therefore y = e^{-1/3} e^{x^3/3} = e^{\frac{1}{3}(x^3-1)}$

3)  $y = y_p + y_h$   $y_h$ :  $\text{char. eq. } \lambda^2 - 2\lambda - 3 = 0 \Rightarrow \lambda = -1, 3 \Rightarrow y_h =$   
 $= c_1 e^{-x} + c_2 e^{3x}$  Ansatz  $y_p = C x^m e^{-x} = (m=1) = C x e^{-x} \Rightarrow y_p' = C e^{-x} - C x e^{-x} =$   
 $= C e^{-x} - y_p$ ,  $y_p'' = -C e^{-x} - (C e^{-x} - C x e^{-x}) = -2C e^{-x} + C x e^{-x} \therefore e^{-x} = y_p'' - 2y_p'$   
 $= -3y_p = \dots = -4C e^{-x} \Rightarrow C = -\frac{1}{4} \therefore y_p = -\frac{1}{4} x e^{-x} \therefore 0 = y(0) = C_1 + C_2,$   
 $0 = y'(0) = -C_1 + 3C_2 - \frac{1}{4} \therefore C_2 = \frac{1}{16}, C_1 = -\frac{1}{16} \therefore y = \frac{1}{16} e^{3x} + \frac{1}{16} e^{-x} - \frac{1}{4} x e^{-x} =$   
 $= -\frac{1}{4} (x + \frac{1}{4}) e^{-x} + \frac{1}{16} e^{3x}$

4)  $\frac{24(1 - \frac{x^2}{2} + \frac{x^4}{4} + 0(x^6)) + 12x^2 - 24}{x^2 - x(x - \frac{x^3}{3} + 0(x^5))} = \frac{x^4(1 + 0(x^2))}{x^4(\frac{1}{6} + 0(x^2))} \rightarrow \frac{1}{1/6} = 6$

5) a)  $(x+2)(x-1) = x^2 + x - 2 \Leftrightarrow y_h = c_1 e^x + c_2 e^{-2x} \Rightarrow y'' + y' - 2y = 0$   
 b)  $y = y_p + y_h$   $\boxed{y'' + y' - 2y = 2 + 2x - 2x^2}$   
 $y_p = x^2$

6)  $\text{Vol} = \int_0^1 \pi r^2 dx = \pi \int_0^1 x(1-x) dx$  PB:  $\frac{x(1-x)}{(x+2)^2(x+1)} = \frac{A}{x+1} + \frac{B}{x+2} + \frac{C}{(x+2)^2} = [WP] =$   
 $= \frac{-2}{x+1} + \frac{1}{x+2} + \frac{6}{(x+2)^2} = \dots = \frac{(-2+B)x^2 + (-8+3B+6)x + 2B-2}{(x+1)(x+2)^2}$  Ident. w  
 Goeff.  $\Rightarrow$   
 $\therefore \begin{cases} -2+B = -1 \\ 3B-2 = 1 \\ 2B-2 = 0 \end{cases} \Rightarrow B=1 \therefore \text{Vol} = \pi \int_0^1 \left( \frac{-2}{x+1} + \frac{1}{x+2} + \frac{6}{(x+2)^2} \right) dx =$

$= \pi \left[ -2 \ln|x+1| + \ln|x+2| - \frac{6}{x+2} \right]_0^1 = \dots = \pi \left( \ln \frac{3}{2} + 1 \right)$

7) Se lösen

8)  $\lim_{x \rightarrow \infty} \int_x^{x+1} \arctan t dt = \lim_{x \rightarrow \infty} (x+1 - x) \arctan \xi$   $da \xi \in [x, x+1]$   
 $= \lim_{\xi \rightarrow \infty} \arctan \xi = \frac{\pi}{2}$